/*output thru lp -dlp2 -c -s paged.*/                       

for each icsl where icsl.cono = 1 no-lock                   

         break by icsl.buyer                                

               by icsl.prodline                             

               by icsl.vendno                               

               by icsl.whse:                                

display icsl.whse label "W" format "x(1)"                   

        icsl.prodline label "PRODLINE" format "x(6)"        

        icsl.descrip  label "DESCRIP" format "x(10)"        

        icsl.vendno   label "VENDOR"                        

        icsl.buyer    label "BUYER"                         

        icsl.minbuy   label "MIN" format "zzzzz9"           

        icsl.minbuytype label "TYP"                         

        icsl.tarbuyamt[1] label "TGT" format "zzzzz9"       

        icsl.tarbuytype label "TYP"                         

        icsl.revcyclin  label "RCYL"                        

        icsl.arptype    label "ARP"                         

        icsl.arpwhse    label "ARPW"                        

        with width 132.                                     

if last-of(icsl.buyer) then page.      


icsl.whse format "x(1)" 
icsl.prodline format "x(6)" 
icsl.descrip format "x(10)" 
icsl.vendno 
icsl.buyer 
icsl.minbuy format "zzzzz9" 
icsl.minbuytype 
icsl.tarbuyamt[1] format "zzzzz9" 
icsl.tarbuytype 
icsl.revcyclin 
icsl.arptype 
icsl.arpwhse 

Also add RC.frozen flag
